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Instructions for Candidates
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2. All questions are compulsory.
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followed throughout the paper.
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1. State whether the following are true or false (any five) : (10)
fraffas A ¥ B A 99 A @A B 9 (I WA)

(a) A proposition that is false under every interpretation is called a tautology.

W aaE af Rafdll ¥ s Bar @ 3¢ W FEd 2

(b) Reductio ad absurdum is another name for shorter truth table.
e R s Rl w1 gEa W Ay we ar 2 o

(¢) If the consequent is true the material implication will be true;
IR FTER T ¥ W TG AT T B €
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If an argument is valid it cannot be that the premises are true but the conclusion

is false.

af2 A 7 Au 2 9 aE I AT R i SR R AT v BN ¥, Wy P
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The stroke function was devised by Aristotle.

T =R ey g AR foear e

Ten rules of inference are used to construct a formal proof of validity.
IR ALTA D TAT Sl AT A FTAE & <9 e 1 JaeT B

A bi-conditional is a conjunction of two conditionals.

TG & FAE TR T G @ |

Use the truth table method to test whether the following are tautologous,
contingent or contradictory (any one) : 6)

T av R grr PR Skt v Al aow, @we o = 2 (9
Q‘-foa'F):

@) ((evp) - pv~p)>@Vv(P"-~pP)
i) (p>q@) - ~q)>p* ~q) v~p)

If A and B are true, X and Y are false, determine the truth and falsity of the
following (any one) : “)

e A IR B 2 o1 X 3R Y 3w 2 @ FrmfoRaa <6t 9 o saeaan fuiRa
FQ : (FE N )

@® [(~B:~A)>(~X~Y)]=(AD>B)

(i) [X2 (Y vB)]=[(~A V~Y)- (X D B)]
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3. Use the shorter truth table method to determine the validity/invalidity of the

following : (any two) (5%2)

freferir @t duar/sduer @Y w W R g PriRe SR (9 9 R)
@) p>o(qvr)

(Qq-1)>~p
/5 ~p

(i) AoB
BoC
/.. AoC

@) pogq
q>op

/5. pvq

4. (a) Define the following in terms of the stroke function (any one) : 4

PR = Biw =R ¥ TRE AR (9 ve)

@ @®-p)>q
i) (pvg)>-~r

(b) Define any one of the following in terms of (i) negation and disjunction &

(ii) negation and conjunction (2x3)

frfia ¥ ¥ 50 v = (i) Py @ e T (i) g o daee o
gfenie =i |
O @P-q9v(p-~q)

() (p>9):(g>p)

PTO.
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Symbolise the following (any five) : &)

PR = TR SR (B 9wt

(@)

(b)

(©)

(d)

(e)

®

(8

(h)

The harvest is good implies that there was no shortage of water.

Waﬁt%% g 2 fF orFh @ & R R

It is false that he is neither hardworking nor intelligent.

T8 F@eg ® f6 98 A1 A uRsedt @ A & gfeEe

The bus arrived late even though there was no traffic jam.

99 R A A e w2 A FwEe & A

The professor is both learned and popular. .

TR R o Saha A @ ¥ )

The party will win the elections although the candidate is weak.
st g R Tl S SRR FeR 2 )

Both John and Dick will take part in the play.
Eﬁ?&ﬁ?ﬁﬂs‘ﬁﬁmﬁﬂmﬁﬁ'l.

Satish will study Mathematics if he goes to college.

|drw NG 9 4l 98 Hiciol A |

Even though she is rich she is not liked by her colleagues.

Tt 9E o 2 SUD 98- FHAAQ I 96T TEl H |

Construct a formal proof of validity for any one of the given arguments, using the

nine rules of inference : (10)

FrfoRaa 3 ¥ 6d T @ SRR YT O W S S At Pl & s e
@m:
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i) Lv(M>N)
~Lo>(N>O)
~L
/. MO
@) AoB
CoD

AvC
/.. (A-B)v(C-D)

7. Symbolise the following using quantifiers and the notation of propositional functions
(any five) : (10)
Prfafaa o @it omaR vd aRAorE ¥ wdEERe g (A )

(i) Only women are emotional (Wx, Ex)
B ARA & Wigw BN 2 |

(i) Businessmen are never fickle-minded (Bx, Fx)
R T W SR ARG T T AR

(iii) Not any guest stayed for dinner (Gx, Dx)
N Ay e B o T

(iv) All except lions are timid animals (Lx, Tx)
o A & W g T B ¥

(v) Camels are beasts of burden (Cx, Bx)
T e R oy ¥

(vi) Most tall building have lifts (Tx, Lx)
sftrim S TRa W foe 21

PTO.
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(vii) Rabbits have no horns (Rx, Hx)

AT B O FE B

8. Write short notes on any twe of the following :

frfoafaa ¥ ¥ el @ w aftra ot fafae

(1) Decision procedure

i o
(i) Use of Symbols in logic
THaEd ¥ Wit 1 Heed
(i) Variable and Constant

W T IR

(10)
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